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LINGUISTICS
Full Marks : 60
Time : 2 hours

The figures in the margin indicate full marks
for the questions

Answer the questions from either Option—A or
Option—B

Answer either in English or in Assamese

OPTION—A
Paper : LIN-0300104

( Morphology )

1. Select the correct option : 1x8=8

W% Reuchr AR e :

(a) Inflectional/Derivational morphemes
are suffixes that change the
grammatical meaning of a word without
creating a new word.

iy /mremEe dof (R 9o g
11ef Req g ¥ B TqMNF T JRATTS

ef FpeAfey FCR
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(b)

(c)

(d)

(e)

(9)

(h)

A25/243

(2)

‘info’ in English,
‘information’, is an
blending/clipping.
3RM&  nformation’ =%q [ 9 info’
*HCo! oot /b et |

‘producer-director’ is an example of

created from
example of

- coordinative/subordinative compound.

“oifIoETe-RotRe’ (R IS /SR PR
THIRIT |
The morphemes that cannot stand

alone are called free/bound
morphemes. :

RArr a9 ooy IR GRIE cRERs
IF/3% Al Qe |

‘mixture—mix’ in English is an example
of backformation/blending.

A& SN ‘mixture—mix’ (KR PO/
fipsrers Bwrger | .

An inﬁx/suﬁix is added at the end of a
word.

T /o T G TR CRS @
= ‘

Free morphemes are of two/three types.

T& oo 13/ aeree |

Subordinators belong to open/closed
class of words.

SR A 1% [/ Ta A o6ofe |

" ( Continued )

(3)

2. Define the following with suitable examples

(any sin :

2x6=12

- ffiRearT Sy S e o (R e
w0l ¢

(@)

(b)

()

(d)

(e)

(9

(h)

@

)

A25/243

Derivational morpheme
AT 2O
Acronyms

Tefee o

Prefix

o7
Allomorph
o
Coordinators

MEEEEY

Blending
Rerer

Adverb
fermRoma

Infix
wgsf

Reduplication
el

Subordinators
SRR AT
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3. Write short notes on (any foun :

(4)

oY R foran (R e k)

(a) Closed class of words

T A

(b) The category of verb

(c)

(d)

(e)

(g)

(h)

A25/243

ferorm @

The difference between free and bound
morphemes :

TE OIF 7 AOHT S 21

The difference between inflectional and
derivational morpheme

Refeee wie *RemapEe AP e e
Affixes

% AR

Tense and: aspect

Fret = w0

Adjective
Rougaom

Conversion

Rl

( Continued )

5x4=20

(S)

4. Answer the following questions (any two) :
10x2=20

SR PRI Tel e (R e ot)

(a) What do you understand by the term
‘morphology’? Write a note on the scope
and subject matter of morphology. 2+8=10
Fog Fa B W7 TOw RR ww
s 7o @fb et forn

(p) What does inflection mean? Discuss
various types of inflection that can be

found in languages. 2+8=10
it 2 oo o Rfsn oo geoifes
R wieew 41 1

(c) Explain the properties that characterise
the grammatical category of noun. Give
suitable examples.

Rem R Rerepe |PrR IR |
ot

(d) What are compounds? Write a note on
different types of compound found in

languages. 3+7=10
e 7 oapERe R Rfen 29 TWER
R «fb Gt ggo =1 |

(e) What are the common ways of forming
new words in languages? Discuss with
examples.

SRR AP 9 A M AR B R o
SRR S <4 |
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1. Answer the following as directed :

(6)

OPTION—B

Paper : LIN-0300204

( Phonetics and Phonology ) S

Tere fraraRy ot Tes i

(@)

(b)

(c)

(d)

A25/243

What do you understand by speech
sounds?

R et & g 2

What is meant by articulatory
phonetics?

SwRee @fRReE e [ 3= 2

deals with the perception, via the
air, of speech sounds.

( Fill in the blank )
@ cTeR JFwe N I wlRace [/
2T I, O SACAGAT A |

(AN 3 o7 74T )

Voicing is an articulatory property of
speech sounds.

( Write True or False )
NS (2R INRWT 51 SoRerEE ¢3Sy |
(= T sram forar )

( Continued )

1x8=8

(e)

(9)

(h

A25/243

(7)

Contrastive distribution of sound helps
to identify a phoneme.

( Write True or False )

@51 R R aames RPN | oarssa
TS 2 I |

(wm  orag fordn )

|s| is a stop/fricative sound.
( Choose the correct option )

|s| Czre @Bt = /Ten i)
(= Resh AR Shisar )

Contrastive distribution / Complemen-
tary distribution of sounds helps to
identify an allophone. A

( Choose the correct option )
R R/ Rege aams owf faresre
A I

(o= Rt AR Serean )

|k| is a palatal/velar sound.
( Choose the correct option )

|k| <t ORRs /T R
(o Rescht AR Bferear )
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(8)

2. Answer the foilou/ing questions very briefly

(any sig :

S PRI S YL TeT ot (R oo wmb)

(@)

(b)

(c)

(d)

(e)

(9

A25/243

What is a phoneme?
RME @i 313 B2

What do you mean by complementary
distribution of sounds?

AR AReF 2zt Ifeicer R gorr 2
What is meant by voiceless sound?

IR R 3o R a2

Write any two phonetic properties of |s|
sound.

f;; R R @ B /e Rt Ry
|

What do you mean by aspirated sound?
A R/ e R @2

What is meant by syllable?

] o 6 e 2

How many syllables are there in the
English words ‘cat’ and father’?

A& SRR ‘cat’ W father’ e @‘1@'
QYILT /Y WIR?

( Continued )

2x6=12

(9)

(h) What do you wunderstand by
International Phonetic Alphabet or IPA? -

R R e R o2
(i What is minimal pair?
R T @R 2

() Write the name of two cavities that are
used in producing speech sounds.

R TS IR I 751 RewT 7w o |

Write short notes on any four of the
following : 5x4=20
e MAIRRT R @1 vifIbR @oge 5 R forat

(a) Phonetics and phonology
wAReEm wF /ey

(b) Segmental and suprasegmental in
phonetics

iR S T Sofke

(c) Articulatory phonetics and acoustic
phonetics

THRINE RAREW wie 3w @R

(d) Place of articulation and manner of
articulation
THIRIT T F THIRIT 43
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(10)

(e) Types of syllables
R Rt

() Stress and tone
RIS W% ]

(g) Free variation of sounds

R/ swe [Res st

(h) Bilabial and alveolar sounds
@ T W |

4. Answer any two of the following questions :
10x2=20Q
o 2P R e b Tes oy

(a) What do you mean by organs of speech?
Draw the picture of speech organs and
identify their parts. i

IfTEE s & 3@ 2 ANER R B ox
SR CT4SAN |

(b) Discuss elaborately the articulatory
properties of speech sounds.

R TwRaee QPRPT Ry Rewera
A F4 |

A25/243 ( Continuvd)

(c)

(@

(e)

(11)

What do you mean by vowel sounds?
Discuss the articulatory features of

vowel sounds with appropriate
examples.

R_REMN Fea B =2 wwwls SRR

PRI Se Sweaepi s
401

How can consonant sounds be classified
on the basis of place and manner of
articulation? Explain with example.

THRT T WE [ TR JETRAATE
T Rerem 37 <R, Swraer wicams

L]

Write the processes of identifying a
phoneme.

RE =i Parewsam R’z Rec B |

% % %
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